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Part I : MORPHOLOGY
Lecture 1

INTRODUCTION

Words are important: basic units of language, unlike phonemes and syllables, words carry meaning.

Unlike sentences, which are forgotten soon after we produce them, words are stored in a speaker's mental
dictionary or lexicon. Words are the fundament building blocks of language.

Native speakers of English know thousands of words such as read, language, computer, on, whose meaning
and form cannot be predicted.

However, once they know the meaning of phish (obtain sensitive information via email fraudulently), they can
recognize and construct words such as: phished, phisher, phishing, and unphishable.

Thus, MORPHOLOGY is that component of the grammar which studies the structure of words to account for
the knowledge that native speakers have about their own language.
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Native speakers know how to segment a string of sounds into words when they write, for instance, so then:
What is a word? How can it be defined?
Linguists define the word as the smallest free form in a language. This means that it can occur alone and in
different positions in the sentence as well:
(1) What creatures do children find most fascinating?
Dinosaurs

(2) Paleontologists study dinosaurs

Dinosaurs are studied by paleontologists

* Dinosaur (—s) is extinct. (-s is NOT a free form)
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MORPHEMES

Like syllables and sentences, words have an internal structure which consists of one or more morphemes.

A Morpheme is the smallest unit of language that carries meaning. For example: Builder is made up of build(
construct) and-er(one who builds). Houses is made up of house(dwelling) and —s(more than one).
One-morpheme word is said to be simple and two or more morpheme words are said to be complex. Ex:
hunt, hunt-er, hunt-er-s.
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FREE and BOUND MORPHEMES

A morpheme can be either free, when it can stand alone, or bound, when it must be attached to another one.
Ex: boy vs. —s

A free morpheme in English can be bound in a different language. Ex: head and *fi (in Athapaskan, an
Amerindian language). In this language, this morpheme is bound, sefi, meaning my head.

Conversely, a bound morpheme in English can be free in other languages. Ex, play-ed vs thaan leew (eat +
past in Thai)
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play-ed vs thaan leew (eat + past in Thai) : Ju.

ALLOMORPHS

Allomorphs are the variant forms of a morpheme.

Example 1: the indefinite article in English has two variants: a when preceding a word that begins with

a consonant ( a book) and an when preceding a word that begins with a vowel ( an orange ).

Example 2: The plural morpheme =s has 3 pronunciations: [s] as in cats, [z] as in dogs, and [az] as in judges.
Do not confuse spelling changes with allomorphic variation. Ex : e in create and ride is dropped in creat-ive
and rid-ing. On the other hand, there is allomorphy in electric / electric-ity and impress / impression, where
the pronunciation changes but not the spelling. [k] = [s] and [s] = [sh]
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¢~ (1impression [sh] / impress [s] ) s (electric-ity [s] / electric [K] ) & w30 wipie Sus ¢ 5T 2l o
L R R
ANALYSING WORD STRUCTURE

To identify the internal structure of words, we need not only to identify the component morphemes but also
to classify them according to their contribution to the meaning and function of the word.

Roots and affixes: Complex words consist of a root morpheme and one or more affixes.

The root is the core of the word that carries the major meaning component. Typically, roots are lexical
categories such as N, V, A, or P. N=Noun, V=Verb, A=Adjective, P=Preposition.

Affixes are NOT lexical and are ALWAYS bound morphemes. For ex, -er in teach-er (V+er = N) Af=Affix
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Below are examples of the internal structure of some words:
oLl e sl 2l e alad L Lus

N A N Y
/ \ /\ / \ /\
vV Af Af A N Af A Af

I I I I | I I |
Teach er un kind book s black en

AFFIX TYPES: There are 3 types :
. A prefix is attached to the front of the base. Ex. De-activate, re-play, il-legal
. A suffix is attached to the end of a base. Ex. Faith-ful, govern-ment, hunt-er
. An infix, which less common, occurs within another morpheme. For example, in Tagalog, (the
language spoken in the Philippines), we find: bili =» buy, the past form of which is b-in-ili =
bought.
BEWARE! —ish in boy-ish-ness is NOT an infix.

LU 2 s goulll b

De-activate, re-play, il-legal :Jt. (il 2S00 saell dadic gk L 3>y .
Faith-ful, govern-ment, hunt—er :Ju. (il 2US) saeldll ~T b g 3=Y
A (ki) @ Beasal) 2 I @ W e o 52T B e sy et BT s gl Al e @Y
b-in-ili =¥ bought . s U w2 « bili =» buy
Al ez 3>V e boy-ish-ness : —ish law!
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Arabic, and other Semitic languages, has interesting illustrations of infixing. Roots in Arabic are consonantal.
Various combinations of vowels are added, including in between consonants to mark grammatical contrasts
such as: Kataba =» wrote, kutiba =» has been written, aktub = | write/am writing. One way of representing
these facts is by assigning vowels to a different tier, level :

Olas ASle Btz 2 Al 3 ppdd S e ) Ol plasa St alial Lo ¢ (2 Bald) lallly iy )
ko) sy b IS (L (L 13 LS syl Ll s STl Gy b1y U5 (3 L (S Al 2 e il oS
il A3 Sy Jl Al Ol e g b e o U ods
Af
/ \

Kutiba
\ |/

Root (" write")

PROBLEM CASES

English morphology is said to be word-based. Consider the following: re-do, treat-ment. Most complex
words are like these two.

Not all languages are like English, Spanish and Japanese; verbal roots are ALWAYS bound and cannot
therefore stand alone. Arabic is also like that.

English also has a number of bound roots such as unkempt (unkempt hair) which does not break into
un+kempt.

Other words such as inept were borrowed into English from Latin ineptus (unsuited). Today, this word
cannot be broken up into * in-ept.

Another class of borrowed words from Latin via French is represented by the following: receive, conceive,
perceive, permit, submit and commit. Each potential division of the word does not have a meaning of its
own. Re- = 'again' but —ceive = ? Consequently, these words cannot be segmented.
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Lecture 2
Derivation

INTRODUCTION
Some English derivational affixes
= Complex derivations
= Constraints on derivation
Two classes of derivational affixes compounding:
= Properties of compounds
= Endocentric and exocentric compounds :‘“‘_'m"
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Derivation is an affixation process that forms a word with a meaning and/or category distinct from that of its
base. Ex. Sell+er =» sell-er, V+er =» N, NOT to be confused with tall+er =» tall-er, A+er =»A. Here er is
inflectional.

el o a B e Bpane 38 ol 5 aae W 2S5 @) Blady) ke a BUESY)
Ado € iio +er ( tall-er € tallter ., « Lid)pae iy ¢ ol € Job +er | sell-er € Sell+er : Ju.

Ay pad » OF Lia
Fig. 1 Derivation Inflection
N A
/ \ /\
vV Af A Af

I I | I
Teach er tall er

Once formed, derived words become independent lexical items and receive their own entry in a speaker's
mental dictionary. With time, words acquire new meanings. Ex. Profession means 'career' rather than 'the act
of professing'.

SlzeY! Le)'the act of professing' -« Yo (ags)'career' .o (g )Profession :Ji i s
I e p g o &% 3

SOME ENGLISH DERIVATIONAL AFFIXES

Examples of derivational suffixes: fix-able, refus-al, claim-ant, teach-er, shoot-ing, impress-ive,

treat-ment, king-dom, faith-ful, presidet-ial, arab-ian, optimist-ic, hospital-ise, brain-less, poison-ous, tall-ish,
active-ate, black-en, stupid-ity, slow-ly, happi-ness.

Ak G 8 A3 Y) Sl jany
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COMPLEX DERIVATIONS
Some words require multiple levels of word structure as in Fig. 2 below:
Fig.2: A multilayered internal structure N

/\

v o\
[\ 0\
A\
/NN
vV Af Af  Af

I I | |
Act ive ate ion
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This word illustrates a multilayered internal structure with the attachment of an affix to an appropriate base.
el ol 3O ek e Sl Siaie J13 sy oy LS oln
COMPETING ANALYSIS

In some cases, the internal structure of a word is ambiguous between two competing analyses.
Ex. Unhappiness Fig. a. N Fig. b. N
/\ /\
A \ / N
/ N\ /1 \
Af A Af Af A Af

I I I | | I
Un happy ness un happy ness
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The preferred analysis is the one in (Fig. a). Un_is more attested as a prefix with adjectives than with nouns.
Ex. unable, unkind, unhurt but not *unknowledge, *unhealth, *uninjury.

T il sl me oy Slil e 2y 587 8T i U= @ 2350l (3 555l ga Y Julod

CONSTRAINTS ON DERIVATION

Derivation is often subject to special constraints and restrictions.

For example, the suffix —ant can attach to bases of Latin origin such as combat-ant, assist-ant, but not those of
English origin such as *help-ant, *fight-ant.

A derivational affix may attach only to a base with particular phonological properties.

For example, the —en combines with adjectives to create verbs.

Ex. Whiten, soften, madden, quicken, liven, but not *abstracten, *bluen, *greenen, *angryen, *slowen.

This suffix can only combine with a monosyllabic base ending in an obstruent (stop, fricative or affricate).

BlizaY) e Loyl 35
B ¥ Jpol o g LIS aels e gl OF Se —ant aledl 5= Slae . 39a1g Lol 3508l a2t L Ll Blixs)
help-ant, *fight-ant L. &4 &l Jeof 0 o) Sy « combat—ant, assist-ant
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*abstracten, *bluen, *greenen, *angryen, _.J <3 Whiten, soften, madden, quicken, liven :Ju.

*slowen

o fricative stop) obstruent (i .l s saeld 18 & Jodll) alaill 2slT oy 4t s Lo 6 s L) 5

(affricate

TWO CLASSES OF DERIVATIONAL AFFIXES

Class 1:
They trigger changes in the consonant or vowel segment of the base and may affect stress placement. Ex.
ity san-ity [ei] changes to [i], from sane to sanity.

-y democrac-y [t] changes to [s] and stress shifts from 'democrat to de'mocracy

—ive product-ive stress shifts from pr'oduct to pro'ductive.

—ise public-ise shift from [k] to [s] from public to publicise .

Class 2:
a) These tend to be phonologically neutral, not affecting the segmental makeup of the base.
Ex. Prompt-ness, hair-less, hope-ful, quiet-ly, self-ish, defend-er.
b) These usually cannot intervene between the root and a class 1 affix.
Ex. Divis-ive-ness, fear-less-ness, but not *fear-less-ity.

Adaa Y Sl e ued

:Jo¥1 ad
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Prompt-ness, hair-less, hope—ful, quiet-ly, self-ish, defend-er :Ju.
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*fear—less-1 J .<J Divis—-ive—ness, fear-less—ness : .
b
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COMPOUNDING
Compounding is a process of word formation in English which consists in combining existing words to create
complex words.

S
Bdas SLelST sl B3gom gl SIS el (3 e ) AW A (3 S 1SCes adas 1 ga S

The resulting compound may be a Noun or a Verb or an Adjective. Ex. :
e B ol b ol ) 0G5 I S

(1) N N N N

/ \ / \ / \ /\
N N A N V N P N

fire engine green house jump suit in- laws

Vv Vv Vv \

/\ /\ /\ /\
N V AV vV Vv P V

spoon feed dry clean break dance drop kick

A A A

/ \ / \ / \
N A A A P A

nation wide deep blue over ripe

Note that the rightmost word determines the category of the compound. Thus, Greenhouse is a noun
because it ends with the noun house. Spoon-feed is a verb because it ends with the verb feed.
The morpheme that determines the category of the entire word is called HEAD.

o <Y o 5» feed-Spoon; ..l e 4Y et 2 Greenhouse o 1Sy .SV a8 sud ) il 1S OF LY
i
() HEAD Leles 2 28 sud gl aspall e gl

Compounds can combine with other words to create even larger compounds. Ex.

Tl J\f\ Q@dﬂ-df-i QL«K@ oS JU@L\ Qﬁgj

/ o\ VAR
N N N N

/ \ /N 7/ 0\

dog food box Sunday night concert series Af N
elect ion date

Notice how compounding interacts with derivation in (3c)
(3€) & Blaa¥) pe SV Jelin a8 LY
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PROPERTIES OF COMPOUNDS
English orthography is not consistent in representing compounds. They can be written as single words, or
separated by a hyphen, or simply separate words.

As for pronunciation, some facts MUST be noted: Adj-Noun compounds are characterized by more
prominence/stress of the first compound: * greenhouse =» "a glass enclosed garden" vs. green house "a
house painted green", * blackboard =» "a chalkboard" vs. black board ( a board painted in black).

Tense and plural markers cannot affect the first element in the compound. Ex. * the player dropped kick the
ball vs the player drop kicked the ball.

s oSl ailes
Aladie SllS ablay ol ((—)ib,iu Aguade of Bty LSS oSG OF S L OWSA Lad 3 3y Y L) dall) & o) st g
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"5 € " blackboard (" 2+ 05l ¢5.0s Ji" green house Ll "idis 1ol 10-" € greenhouse
3508 0500 § 5eas 4" black board .

P 20 b 3 Il e 15 o S Y by Jodl

ENDOCENTRIC AND EXOCENTRIC COMPOUNDS
In most cases, a compound denotes a sub-type of the meaning/concept denoted by the head/rightmost
element in the compound.

EXOCENTRIC s ENDOCENTRIC c.is.

S G el (8 [y Mol e pseie] s 0 £ 05 e ot oS m VU (o 8

steamboat =» a boat powered by steam.
airfield = a field where airplanes land.
fire drill = practice in case of fire.

Such compounds are said to be endocentric.

e
) o pssie )6 € steamboat
ol b bg U it €= airfield

A g YL Wl 3 ) € fire drill

.endocentric ... oSl ois Jo b
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In a smaller number of cases, the meaning of the compound does not follow from the meaning of its
compounds.
LS are e Y CSU sre (VU e BB a8
Ex.
redhead = a person with red hair.
redneck =» a person, not a neck.
Such compounds are said to be exocentric.
(ke

ol es jess €= redhead
A8y Ly (e € redneck

.eX0CeNntric c.. olSl ois Jo sl

Exocentric compounds allow the suffixation of —s to irregular plurals, the endocentric ones do NOT.
Ex.

Endocentric:

wisdom teeth, policemen, oak leaves.

Exocentric:

bigfoots (mythical creatures), watchmans (a type of portable TV).

M s Y Endocentric s, S il e o fee e =S 2 Y s Exocentric oL

A

: Endocentric

(L5 31,5)) oak leaves ((ib,2)l Jl=,) policemen (( jixl .5.>) Wisdom teeth

: Exocentric

Qe WS e ) watchmans (xskbul ©6yl2) bigfoots
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Lecture3
INFLECTION

What is INFLECTION?

It is a change or modification in the form of a word to mark grammatical. For examples, languages contrast
plural and singular nouns by the addition of a plural affix such as =s in English as in book ~ book-s. (The base
form to which an inflectional affix is added is also called a stem.

Sy il 52 Lo
Gob o8 W Al g el i ks S U L e AR uelg e oy b s Gl 2T S (3 e ) i 4
ot b2l L el O BLs| g saeld) o bOOk—s ~ bOOK (3 L a4y 2l (3 =8 oo modkl 5= 5 L]
(gi4)stem

INFLECTION IN ENGLISH
With only 8 inflectional affixes, English is not a highly inflected language.
English inflectional affixes:
Nouns: Plural —s as in books ; Possessive (genitive) —=s as in John's book.
Adjectives: Comparative —er =» the smaller one, Superlative —est = the smallest one.
Verbs: 3Person simg. Non-past —s =» He reads well. Prog. —ing=>» He is working.
past tense —ed =» He worked; past participle —en/ed =» He has eaten/worked.

Bl aalll Cypad!
RV PR WS § FURCWIE SHP-NERTPEN SISt AP
Ak Y AL Al pead ik

.John's book ;L —s (&) Slas) U5 ¢ DOOkS (3 Ls" =8 aedt : sledl

o) € —est Jaidl e pol € —er &l Ol

¢« He is working. €= Prog. —ing ¢« He reads well. € ol cod —s .l G 2 JudY)
He has eaten/worked. € —en/ed jaill i) ixall ¢ He worked. € —ed ol dao

INFLECTION VERSUS DERIVATION
4 criteria are often used to distinguish between inflection and derivation affixes.

Slizay) e Caypmadl

LByl SlsYy Capeadl sy oy et WK pdsies e ¢ Jla

(1) Category change:
Inflection does not change the grammatical category of the meaning of its host.

lal) sl Lot Bl iy Yy nd)
\'

/\
V Af

| I
work ed
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Derivational affixes do change the category and meaning of their host.
Sl el g ddll i aslaay) ol
A N \) N
/\ /\ /\ /\
N Af vV Af N Af N Af

I I I | I | | I
Heart less work en hospital ise king dom

(2) Order: A derivational affix (DA) must combine with the base before an inflectional affix (I1A); i.e.,
Inflection applies to the output of derivation.
N N
/ \ /\
N O\ N\
/\ N\ /\ o\
N DA IA N IA DA
I I | I |
King dom s *king s dom
i (Y)
QU r o I Cypad) oy ol o ¢ (TA) 20l 2501 13 acld) e s OF gt (DA) aslizay) ez~
(3) Productivity:
IAs have few exceptions, comparatively. DAs typically apply to restricted classes of bases. Ex. modernize vs

*new-ise ; legal-ise vs * lawful-ise ; Confine —ment; align-ment; treat-ment; * arrest-ment; * straighten-
ment, etc.

WY (V)

Ml asled) or 53902 lid e ole oy a8lins Yl U= s (alls olslitnn) U iy 09l Sli>)

(4) Semantic transparency :

IAs contribute transparent and consistent meaning to their host.

Ex. books, trees, cats or walked, played, talked, etc.

DAs do not contribute consistent meaning.

Often it is not possible to predict the word's meaning from its parts.

Ex. Actor is someone who acts but a professor is not so who professes. Government can mean institution as
in government's program but it can also mean act of governing as in government by the people.

AV adlasd) (¢)
Tl Olaall W%e 5 Blis 3a8 @8l Liyad) L=

e s (..aL...SY sy ol

At e aadS” aal gl Sl S e T 0L e S8

o8 S g Ll 368 all s OF e BagSH L b e 335 le o Bl 28T ST Jag sl asetdl ga ol U
il B 0 e gSHST (S b s Of L

OTHER INFLECTIONAL PHENOMENA

S Ldy el jalghall
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CASE: It is a change a word's form to mark change in its grammatical function ( subject, direct object, indirect
object, and so on ). English does not mark case on noun, but it does on pronouns; ex, he vs him, he met him vs
* him met he.

-
el W e aoke Y il o T U el el allal) Lelall ¢ Jeldll) ded) Leziby (3 peidl Sdond BedST IS8 G i )
Szl s 4,
Standard Arabic marks Case on nouns: (nominative, accusative, and genitive )
Akala Omar-u t-tuffaahat-a  fi |-maktab-i

Ate  Omar-nom apple-acc in the-office-gen
'Omar ate the apple in the office. '

(ad) Blially ccnadl (@) eleW) B sud eadl) 2y el 22l
Sl G Al jes ST

AGREEMENT: Occurs when a word is inflected to match certain grammatical properties of another word ( t-
taTaabuq). In English, it is limited to the third person singular of the simple present; ex, He work-s very hard.

o et 61 dY) aalll 3 (@) T RS e e Byt ailas o el S Ol el e poy Ldis oas (ARG

PROCESSES RELATED TO INFLECTION

il Azl Coldosl)

Internal Change:

A process that substitutes a non-morphemic segment to mark a grammatical contrast.

Ex. sink ~ sank (ablaut); goose ~ geese (umlaut). The change explained historically is as follows:

a. Old English form : /go:s/ d. Loss of the plural suffix / goe:s/

b. Old plural form:  /go:s-i/ e. Other change /ge:s/ then /gi:s/

c. umlaut / gee:s-i/

Note that internal change is NOT infixing. There is no base form {sg}, {sk}. Infixing and internal change show
that morphology is not always concatenative, meaning that affixation does not always apply sequentially.

:&#\.\J\ )
Sl ) 3l By il St Bikes
2l (3 S il sl {sk {sg suclil (s wms VS WSO 8 (5055 i) o Y (S gt OF Lo
bl Lsls o ¥ LS OF oy iy (ild paall 3L Lasls o (sl ol S5 gy Sl il
Suppletion: it occurs when a morpheme is replaced by another which is extremely different to mark a
grammatical contrast. Ex. Go * ~ went and was ~ were.

Sometimes it is difficult to distinguish between suppletion and Internal Change. Ex. Think ~ thought,
seek ~ sought. Often, it is treated as an extreme form of internal change or as partial suppletion.

Sl ol e Adle avyl Ll b gty 6 5b &y bl gz Lois S Iy
.were ~was 3 went~ Go :Ju
.sought ~ seek ( thought ~ Think :Ju. . 110 jeadly Jlze) o jeed) cnall o 058 LT
(S dzal o PERUgES] Il o Glane K BT Lo lalay ¢ OV e 1873
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Reduplication: it involves the repetition of the base form or some part of it.

In Tagalog, takbo =» run, while tatakbo =» will run (partial doubling of the base).

Mg e 3i sl J&.’b )\JSJ o Solay ] :ﬁﬁd\

(340l 54 2islae) Will run €= tatakbo L. run €= takbo ¢ Je aal

Tone placement : Tone is used in some languages to mark grammatical contrast. Ex, In Mini-Bili, a language
spoken in the Congo, we find the following contrasts: zi = ate, while zi = will eat.

Pl 0 oSN (3 s 0l A ¢ o e 3 1l Lol L) s Sl am 3 ptsns ) 8l s
.z1 = will eat ..., zi =P ate

Conversion: Often considered to be a type of derivation, it involves a change in meaning and category. It is
also called zero derivation. Ex., the poor, the rich, the sublime, ( Noun ~ Adjective), up the price ( preposition
~verb ), dirty ( verb to Adj), run (verb ~ noun), butter ( noun ~ to verb).
Conversion in two syllable words is often marked by a shift in stress. Ex., ‘implant (N) ~ im"plant,
‘import ~ im’port, “present ~ pre’sent.

~ o) @b @A Gl e BN BT e 6l LS Al sl (3 e sk B (Bl e g o W aalt B

(b 1~ ) By (o~ ) ) (i U] ) frmis o(Job ~ o ) el iy (5
sl sy bl (3 T el L Ul cpabaall wls LIS (3 aadt QB

Clipping: A process whereby a polysyllabic word is shortened by deleting one or more syllables. Ex., Names,
Ron ~ Ronald, Liz ~ Elisabeth. In casual speech, prof ~ professor, phys-ed ~ physical education. Other forms
are much more widely spread: ad, lab, demo, etc. Recently, we find internet-inspired creations such as blog
(website log of events).

WMy~ Ogy csler) Jlaa . T o eblis Sl 5 b Jcclaul\ Tsdaze aadSUjLazs | WSIs o o Ades gL
oY ol aaly Bl e ST ame 62T ISl piaSpr) JSG50 ~ 31— 38 ygmadyn ~ Do (ol Euld) 3 Ealid) ~ 3
(S 3l o —850) b e oY1 e Blmgts Sl Y A2 B BV G 0T U] 980

Blends: They are words that are formed by blending non-morphemic parts of two already existing words. Ex.,
brunch = breakfast +lunch, smoke = smoke + smog, infomercial = information +commercial, ginormous =
gigantic + enormous, bit = binary digit, modem = modulator + demodulator, etc.

T dln Jadll Galls (nelS o il b sl i b e ISt g LS o 1M
(Y S e ale 2T o Ly ContldSGp 28T e Jof = 20

Backformation: Creates a new word by removing part of an existing word. Ex., Resurrection =» resurrect,
donation = donate, enthusiasm =2 enthuse, etc. Ex of new recent such creations are: liaison = liaise,
allegation =» allegate, administration =» administrate, aggression =» aggress.
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Acronyms: They are formed by keeping the initial letters of some or all the words in a phrase and pronouncing
them as ONE word. Ex., UNICEF =» United Nations International Children's Emergency Fund, NATO =» North
Atlantic Treaty Organisation, etc.

T e sy 1SS eilaiy 5l (3 LS IS of oy on L6V a1 e B 5 b e 1080, 1O sl

Word coinage: Common for names of products. Ex., Kodak, Teflon.
gkt (1358 e olnzll eleV wils Bl AlS

MORPHOPHONEMICS
b pall Ol sl (3 5eall oS!

Morphemes and their allomorphs

Is every morpheme pronounced the same in all contexts? The answer is NO. Many morphemes have two or
more pronunciations, called allomorphs. The choice between them is determined by the phonological
context.

id ! B g O )
Sl o bl il o ST o st b L) bl e il Y Ol $OBL) aud § Al ks 3l 490 IS J
g}}.d\ Slwdl 3b e Lagiy LYl ud ] Ad o

Examples 1 : The plural in English
How is the plural morpheme in English formed?
Answer, by adding —s to the singular form. Consider: cats, dogs, horses. As is well known, English spelling
does not reflect pronunciation.
This suffix has three allomorphs: [s] as in cats, lamps, [z] as in dogs, days, and [iz] or [az] as in horses or
judges. The pronunciation is predictable on the basis of the phonological context :

= Sibilants ( hissing sounds) such as horse, rose, bush, church, judge, call for [iz]

= Otherwise, when preceded by a voiceless consonant, [s] is used as in cat, rock, cup.

= QOtherwise, when preceded by a voiced consonant, [z] is used as in dogs, days, birds.

ANES RN FICIRNT ([OY
)l 3 b all, ekt (S S
S Y Y all Y1 s e sa LS Lcats, dogs, horses :jLusyl s ds 5l Sadl =8 wlol (Sl
ikl
#1s dogs 2 L™ [3] [z]c Y lamps s cats 3 LS [ o] [S] 148 e lpiae S & i dlgdt 3>Y
.l judges ;w3 horses 3 Ls” [3)] [oz] [iz], x5 days
1358 Blnd! ol o 4 gl S5 gladl
[iz] _ls horse, rose, bush, church, judge |u (wloY ingun) wial wlps =
.cat, rock, cup 3 LS pusany [S] W ©go ¥ Sl B diy Litie (U3 O ®
.dogs, days, birds ;3 L s, [2] wplpal (Sl B wiy Lis (&5 D= @
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Example 2: How is the past morpheme -ed realized phonologically? [t], [ed], and [id] or [ad]

Is Allomorphy a matter of phonological conditioning only?

Yes, as in the cases above, but NO for others.

Consider the word lie. It ends in a vowel, a voiced sound and therefore forms its plural lies with [z]. However,
if we replace [z] with [s], we get an actual word lice, the plural of louse.

Grammar also accounts for allomorphy in English.

Consider cliff and laugh. Both form their plural with [s], cliffs and laughs, but wife and loaf do not, *wifes,
*loafs are ill-formed. Their plural is wives and loaves.

Similar words that change their voiceless consonants f, s, th to voiced counterparts v, z, dh are : knife ~
knives, life ~ lives, path ~ paths.

Notice that the change is restricted to the plural morpheme: "my wife's car" does NOT undergo any change.

[od] s [id] [od] c[t] flssw —ed oW 20 N5l w2 S W Jiby

$loib ijg Al dlus L3l Slpadl o

(AT VY ST odlel 5T VU (3 LS (o

2] o lies oot (Ko QWb sjlal sy cile Bt g li@ ST jLaeY) opm s
louse . ottt dice als ads” e ot ([S] oo [Z] Wiaza] 13] 3 woy

Al Al agsall ol 28 Lal syl
*wifes, o loaf , wife .U ¢ laughs , cliffs ([s] x Len 20 [Sox eds laugh 5 cliff ey o is
loaves , wives Lxa .4 ¢ W Sis *loafs

knives ~knife : » dh ( z « v igya) Wik Qi th os o f w50 ) asTd Oy g aslen oL

.paths ~ path . lives ~ life

e Y p2z ¥ 'my wife's car’ iadi ado e eth pad) OF LY
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Lecture 4
MORPHOLOGY PRACTICE

EXERCISE 1: Circle the correct answer in the following multiple choice questions:

1. Morphology is the level of grammar concerned with the
a. Structure of words
b. Stricture of words
c. Status of words
d. Structure of worlds

2. The association between most words and their meanings is purely
a. Controversial
b. Conditional
c. Central
d. Conventional

Y. When we derive one word from another, we
a. Change its class, for example, from Verb to Noun
b. Change its tense, for example, from Past to Present
c. Both of the above
d. None of the above

¢, Roots are
a. NOT always free
b. Always free
c. Both of the above
d. None of the above

®. A compound is a word that contains
a. One prefix and one word
b. One suffix and one word
¢. Two root morphemes and one word
d. Two free standing forms

is a morpheme that makes the most significant contribution to a word's meaning.
a. The phoneme
b. The derivational morpheme
c. The inflectional morpheme
d. The root

Vi vreeeeeineens is some kind of resemblance between the sound of a word and what it denotes/means.
a. ldiom
b. Proverbs
c. Onomatopoeia
d. None of the above

A. Suppletion occurs when a word is represented by two or more
a. Different
b. Similar
c.Bothaandb
d. None of the above
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4. Choose the group of words that result from derivation
a. Cry, cries, cried, crying
b. Kind, unkind, kindness, kindly
c. Tooth, teeth
d. None of the above

EXERCISE 2: Divide the following words into morphemes and morphs.
Examples: (i) truth morphemes: {true} {th}
(i) barefoot morphemes: {bare} {foot}
(1)
a. research {re} {search}
b. butterfly {butter} {fly}
c. holiday {holi} {day}

d. morpheme {morph} {eme}
e. phonology hono} {lo

EXERCISE 3: Some words in (2) contain suffixes. Identify the suffixes by circling them.
(2)

a. happiness

b. freedom

c. flowers

e. brother

e. blackboard

EXECISE 3: Some words in (3) contain prefixes. Identify the prefixes by circling them.
(3)

a. unable

b. discourage

c. establish

d. receive

e. strawberry

EXERCISE 4: For each word below, indicate whether the word is morphologically simple (S) or complex (C),
or includes an inflectional affix (IA), or includes a derivational affix (DA) by circling the relevant answer. S =>
simple, C=>Complex, IA =>infl. Affix, DA=> Deriv. Aff.

DA
DA
DA
DA
DA

a. rider S
b. colder

c. silver

d. lens

e. legs

o0 oloIlo

EXERCISE 5: (i) Identify the root in the words below by underlining it; (ii) State the syntactic
category it belongs to. Example: friendly: friend (Noun)

. lamps lamp (Noun)
. kindness kind (Adjective)

. hinted hint (Noun)

. players pray (Verb)
. grandfathers grandfather (Noun)
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Part II : SYNTAX
The Analysis of Sentence Structure

Lecture 5

What is GRAMMAR?

It is a theory of language which attempts to characterize the structure of language.

All languages have a grammar:
All grammars are equal because ALL languages are acquired unconsciously by all children and at an
early age. Indeed, a child is capable of learning any language. In other words, humans are endowed
with a Language Faculty, an initial and universal program, that enables them to acquire any language.
All grammars are alike in basic ways = UNIVERSAL GRAMMAR.
A grammar is the characterization of the tacit TACIT/IMPLICIT/UNCONSCIOUS knowledge that native
speakers have of their own language.

Al Gy JgiE B dallr 4 s B
el gl Ol sl
o 530 Ll w3l 35S o (39 JULY) e 1B e o9 093 ST o Sl e OF Bglese pally sl delh i
A ol oLt a1 o Ul Moy Sl by sy ARl LG (3 cpsnge o) OB o3 gl 30 (6T Wl
Al usld € bl Bl aslin Jo Ooally el aclp o
Aol g 3 bl ) Gl Baal) (29 095 [ b [ 302 s Linog sa Wl ol

The Organization of the Transformation Generative Grammar
A Grammar in this sense is essentially an INPUT/OUTPUT system. It consists of:
+» LEXICON: a mental dictionary (information on words: pronunciation, form, and meaning).
«» COMPUTATIONAL SYSTEM: operations that combine and arrange words in particular ways. Two main
modes of operation/structure building: MERGE and MOVE.
Merge is operated on the basis of information from the Lexicon and a theory of phrase structure
known as “X” theory.

As for Move, it is the operation of displacing elements around in a structure.
Cpally gl dlyi) Bl Jpod 2l
R RUA NS .G‘J}‘j\/d\.&:}?\ pllas Ll g Sl s (3 O ally s>l uslss
(emlly ¢ S5 ladl iolals e wlaglas) s esal oo
(Jaly el LIS slufaken) ey Cany me By LIS ot @ olled) 1glus allz X
S X g b Bl Al (Sn iy el e Slaslas T e elats o el
.W\L},@wﬁ@aJM\w\gp4waw
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CATEGORIES AND STRUCTURE

Words can be grouped into a small number of classes called syntactic categories.

This classification is based on their meaning, type affixes they associated with and the structures in which
they occur.

M\j ol

gt O s Sladl e LB sas ) LIS s S
e oud ) JSLbly Lens Lo gl Sl g ¢ bline o Caadl s iz

CATEGORIES OF WORDS:
Categories of words are classified as either LEXICAL or FUNCTIONAL.
¢ The Lexical categories are Nouns(N), Verbs(V), Adjectives(A), Prepositions(P) and Adverbs(Adv).
Ex. N: John, Ali, courage, book; V: come, go, discuss; A: good, bad, tall;
Adv: badly, quickly, hard.
% The Functional categories are Determiners(DET), Degree Words(DEG), Auxiliary Verbs(AUX),
Conjuctions(CONJ), etc. Ex. DET: a, the, this; DEG: too, so, very, more, quite; AUX(Modal): will,
would, could; AUX(non-Modal): be, have; CONJ: and, or, but.

s LS ol
b g jf Tz L) LIS oo B Ll
11 e (AdV)Jigrs (P) r Gy (A)tio ((V)Judl (N)sletl » drozeald oladlt 0
11 Jee (CONJ)oaY wlls” (AUX)suslus Judi (DEG)otalSdt &rys (DET)otsus » db g il %

One Source of confusion is that one word can belong to more than one category. Ex. Near and Comb.
1. The boy stood near(P) the fence. 4. The woman found a comb(N).
2. The runners neared(V) the finish line. 5. The boy should comb(V) his hair.
3. The end is nearer(Adv) than you think.

By 3 e ST L) ans OF K6 8ty 2SO0 pa V) e a2
ol 3 LS JeS” 36 OF Sy il alad) 3 LS oS 36 O Sy (Lo ko) 3 LS @S 36 0F S Near a.s7: Jus
a2l 3 LS JaiS 5B OF Sy il ) Al 3 LS 0wl 36 OF S Comb s Lzl

How can we determine a word’s category?
By considering its meaning, its inflections, and its distribution.

¢ dolSad Wud LSS oS
Agaais LBl cbalies ) LN I o

MEANING:
Nouns name or denote entities; Ex. people (Ali, John) and things (book, desk).
Verbs denote actions (run, jump), sensations (feel, hurt), and states (be, remain).
Adjectives designate a property or an attribute of the entities denoted by the noun, as in tall
building, tall man.
Adverbs designate properties and attributes for actions, sensations and states denoted by verbs.
Ex. Manner Janet left quickly. Janet left early.
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Janet left early. Janet left quickly. ekt 1 e
However, meaning cannot always determine a word’s category.
Words such as difficulty, truth, likehood; do not refer to entities in the strict sense. Similarly a noun such as
push may denote an action in “give someone a push”. Further problems arise with different categories
having the same meaning such as like(V) and fond(A) Mice like/are fond of cheese.
% (push) st Jlly s3a) gall UL ) 25 Y i ¢ Bgno o LS 2IST) as Lt sag Of ey el ¢« sls ~
(A) gy (V) ot Joo a8l i b a2 Ol w0 Lo 51 [S1ew "give someone a push’ 3 Ll s e Jus
INFLECTION:
- Nouns are inflect for plural —=s and possessive =‘s ; Ex. books, John’s.
- Verbs inflect past tense —ed, progressive —ing and 3d singular —s ; Ex. Arrived, arriving, arrives.
- Adjectives inflect for the comparative —er and superlative —est ; taller, tallest, faster, fastest.

However, even infection fails to provide a word’s category in some cases such as: *intelligenter, *beautifulest.
Also some nouns cannot be used in the plural such as: *moistures, *braveries, *knowledges.

John’s ( books :Ju. —*s clledly =8 ol Gy sl —

arrives . arriving « Arrived :Ju. —s )Wl 5l —ing sial—ed oW ad) s JWiY -

fastest . faster . tallest . taller :Ji. —est |zl iasy —€F 0Lkl dana) 22y Sldal —
Jintelligenter, *beautifulest : o oYU jan (3 2l 28 clael 3 fody Gioad) 3> 25 mo
moistures, *braveries, *knowledges : Jto xodi 3 pasias of (S ¥ oA 2w Laf
DISTRIBUTION:
A more reliable criterion for determining a category type involves its distribution, meaning what
elements (especially functional categories it can co-occur with). For example, Nouns appear with DET, Verbs
with an AUX, Adjectives with DEG; Ex. A car, the book ; has gone, will saty ; very rich, too big. Of course, we

can also predict that the following combinations are not possible: *the destroy(V+DET),
*very arrive(DEG+V), *will destruction(AUX+N).

QR

(e ool OF S g Bl el Aol ) joliall o Lo gm Vg (lgistal o (g5t 38 ¢35 A Bdg3ge SY1 Lall
AelST) s ae ity Bustedt JWi1 ae JWly (DET st as el glas (olls e Jus

very rich, too big: has gone, will saty ¢ A car, the book : .

ASL o B e gat OF L 5l LS Y (mdallg

*will destruction(AUX+N) ( *very arrive(DEG+V) ¢ *the destroy(V+DET)
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PHRASE STRUCTURE

Sentences are simply formed by juxtaposing words like beads on a necklace. Rather, they are a hierarchical
design/structure in which words are grouped into larger units called phrases. In a sentence like: The doctor
examined the patient. The words the and doctor form a noun phrase(NP) and the words examined and the
patient form another verb phrase(VP). [the + doctor], [arrived + quickly].

The traditional syntactic analysis the doctor is the Subject and arrived quickly is the Predicate.

2 8yl Ay

A LIS fE R e [P [ W g R T P B LS 19331 b e dbluy ot i
sl Ku doctor , the -l The doctor examined the patient : |w. ila 3 . Ohlall os ST oliasy
[the + doctor],.[arrived + .(VP) ile 5L S5 the patient , examined — LISy (NP) i)
quickly].

4 Jsd s» arrived quickly ¢,o4) s» the doctor ulidl sl L

X’ SCHEMA
A phrase can be broken down to 3 parts: a HEAD, a SPECIFIER(SPEC), and a COMPLEMENT(COMP).
Arranged as in the schema below:
XP
/ \
Fig. 1; X’ Schema SPEC X
/ \
X COMP
HEAD
X Ll

COMPLEMENT(COMP) (8t SPECIFIER(SPEC) sust c HEAD it s v ) lpeses oS 3,00
T odel Lbsl) 3 LS Loy

The schema above captures the following generalizations:
1. All phrases have a tree-level structure (X, X’, XP).
2. All phrases contain a HEAD, X.
3. If there is a COMPLEMENT, it is attached at the intermediate X’ level, as a sister of the HEAD.
4. |If there is a SPECIFIER, it is attached at the XP, as a sister of X'.

AW delad) Oyt Jadily gyludt Jalasl
(XP ¢ X7¢ X) hgadl 828 (0 &y Lol Sl o
X HEAD ) Js g9d Sl moar
HEAD iU 12255 ¢ X gt & Lrwghl LS fogy « COMPLEMENT oS s 05713
X Jazass XP 4 Jws « SPECIFIER a2 dus 05713 .
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Lecture 6

HEADS
The head is the obligatory nucleus around which a phrase is built. X in the schema above can be N, V, A, or
P. A head can form a phrase just by itself.
Fig. 2: Phrases consisting just of a head

NP VP AP
| | I
N’ Vv’ A’
| | I
He likes books all animals eat she is certain he went in

o
Ladsgd gle Iy OF (S W L G ol o (o o) 055 OF (S el Lalasl) (3 X 5Ll s 5 Al 818 5a )
SPECIFIERS
The type of Spec in a phrase depends on the category of the Head. Det serves as Spec of Ns, preverbal adverbs
serve as Spec of Vs and Deg as spec of As.
- Det = Spec of N; eg: a, those, my, no, etc.
- Adv = Spec of V; eg: never, perhaps, often, always.
- Deg = Spec of A; eg: very, quite, so
- Deg = Spec of P; eg: almost

Syntactically, Spec mark the boundary of a phrase. In English, they occupy the leftmost position in a phrase.
Semantically, Spec make the meaning of the head more precise.

NP VP AP PP

!/ \ !/ \ !/ \ / \
Det N’ Adv V’ Deg A’ Deg P’

| | I I I | I I
the books never overat quite certain almost in

ENey
Sl a5 JWS saz alie JWY 13 3k & IV ¢ sleS sumaSTDet whsadt suz . W a8 e daze 3Ll 3 ;.@\_@5
oliall su=.S"Deg
a, those, my, N0 :Ju ¢ eyl suz € Clsus) -
never, perhaps, often, always :Ju. ¢ Jadll 502 € J15>Y!
very, quite, SO :Jus ¢ it su2 € LIS 1y

almost :Jus ¢ 31 O suz €@ LIS drys

Blall 3 bl il ise I W) Y1 A 3 5kl g suk sad) (gd
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COMPLEMENTS
Consider the following more complex phrases:
a. [a picture of the ocean] - NP b. [never trust a rumour] - VP
c. [quite certain about Mary] - AP d. [almost in the house] - PP
In addition to the Specifiers and the underlined heads, these examples contain COMPLEMENTS. These are
phrases which complete the meaning of the heads. Complements are semantically selected by their heads.
Syntactically, they are sisters of the selecting head. The 4 examples above conform and illustrate the X’-
schema given above. Ex (a) is given below. (Try to draw a tree diagram for the others.)
NP
/ \
N’
| / 0\
I N PP
a picture of the ocean

ML

U T S o) eyl G Js U

igdad 3yle — [ dnlay Wl g Y | .o il fyle — [ Ll 0 8y90 |

9, ook - [JA T ] s B Byl — [ gyl oo Lok uSTs |
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s Jaosd) obsf mse (1) 5ae oMl ST X b oo 5 i oMol g W1 alna¥1 sl L) Olgst p gt ewny 15 0
(Y e 5ol ooz
THE MERGE OPERATION
We can formulate the following operation for sentence building:

MERGE: Combine words in a manner compatible with the X’ schema.
The merger operation follows a mode of application which is bottom up and right to left.

@"U‘W
sl L W) ddes)l 26ls LS
SX D Lk ae aBlgze 2k LS Gy pad 1l

el el g JE LAWY o r ) alad) a5 Lol des

SENTENCES
The largest unit of syntactic analysis is the sentence. Typically, sentences are made up of an NP (the subject)
and a VP ( the Predicate). These two phrases are grouped together by Inflection. I ( for short) is the syntactic
head of a sentence. It stands for the Tense element of the sentence. On the other hand, because of its central
role in determining the meaning of a sentence, the verb is said to be the semantic head of S. A simple
sentence structure is provided below:

IP

/[ \
NP r

I / \
| I VP
| +Past |
Mary laughed ( Notice that the verb’s ending and the tense feature do match)
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Advantage of this abstract analysis is that sentences have the same internal structure as phrases.
As a head, | is obligatory and this accounts for sentences being necessarily tensed.
| is a natural locus ( position) for Modals, i.e. In between the subject and the VP.
Reduces the burden of language acquisition.
bl Al ) ae ) s W et OF s (gl ol Vs (3 a2 Y)
el s L g Lo s Vimg pile Ty w8
Adadl) 3)Lally 9okl Lo (3 (sT b al) (g0) b O 5a |
Al Ol ses e sy
TESTS FOR PHRASE STRUCTURE

Words are grouped into constituents. However, how can we sure of the correctness of a particular
grouping. There are syntactic tests to confirm constituent structure. These are:

Aot dnd yld

. th oMj @L\ﬂy‘

+* The Substitution Test

Replacement of the entire constituent by ONE word such as they, it, there, do so. In the example
below, THEY replaces the NP children and DO SO replaces the VP stop at the corner .

[The children] will [stop at the corner] if they see us do so
The PP at the corner can also be replaced by one word namely THERE.

They will stop there if they see us do so.

| RUE PR
Jais s JUbY Ay Bylalt 2 14 o ¢ JU JUl 3 Gl e (Sla cgr e ¢ e By 2l JalSIL el il Sl
gl Lis Oga A ledll 5Ll L2 £ ElD

5 s 5] 15 [l s 0 | g [ ]

A g sy 1SS dgll i 39,8 Bylall hzl Ll S

S ek Ul 13] Bl 05iky Gy on
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+» The Movement Test
The PP at the corner can be shown to be a constituent by moving it all to a different position in the
sentence. = Movement test
They stopped [at the corner] = AT THE CORNER, they stopped. But not * at the, they stopped corner

d_lfd‘ :UJ; oo
AT i se () LS Ll 55k e il uaie Ll e el o oSy 4351 311 die 35 el 5L
Sloadll 4y a0 € Aleall B
Al 3l 15858 vie® Gl (S0 1585 Aygl Bl die € [Agg 3N ai] s
The Coordination Test
A group of words forms a constituent if it can be joined to another group of words by a coordinating
conjunction such and, or, but.
The children [went to the playground] and [stayed there all day] (The coordinated structure is VP).

M‘:"?J.;’:’
ﬂ cjicijdﬁ&}fam\ygf'-fa&%@L@x&dﬁji)ﬁwuiﬂ\faw\bfd&ﬁé\owﬁ\ykfﬁ
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Lecture 7
PRACTICE EXERCISES

o\

EXERCISE 1: Some of the sentences below are ungrammatical. Can you figure out what makes them
ungrammatical ?

(1)
a. The instructor told the students to study.
b. * The instructor suggested the student to study.
c. The customer asked for a hot chocolate.
d. * the customer requested for a hot chocolate.

(2)
. The pilot landed the plane.
. The plane landed A journalist.
A journalist wrote the article.
* The article wrote.
. Jerome is tired of her job.
* Jerome is satisfied of her job.

EXERCISE 2: Indicate the category of each word in the following sentences:
. The glass broke.
. These tall trees are blocking the road.
The peaches never appear quite ripe.
| will see you when | finish.
I don’t like that.
. Some students always complain.

EXERCISE 3: Each of the following phrases consists of a Spec and a Head. Build a tree for each one
complying with the X’-schema.
. The zoo
. This house
. SO witty
. Quite cheap
always try
never surrender
Less bleak
. very competent

EXERCISE 4: Each of the following phrases consists of a Head and a Complement. Build a tree structure for
each one of them following the X’-schema.
a. Into the zoo
Full of mistakes
Fixed the telephone
. study this material
Arguments about the elections
Success of the program
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The structure of a sentence with an embedded CP
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FIGURE 5: The structure of a simple sentence:
IP
/\
NP I’
| /\
| | VP
| [+PAST] |
I Vv
| / \
N V. NP
JOHN ATE THE APPLE

NOTE:
= The SYNTACTIC head of | is the abstract morpheme [+PAST]. As a tense morpheme, it must be
associated with a verb, hence the complement status of VP.
The SEMANTIC head of the sentence is the verb EAT. It is the verb that selects a subject that can
indeed perform the action of eating and the Object Apple, which can be eaten. Indeed, a sentence such
as : The tree ate the sea perfectly grammatical but it is SEMANTICALLY anomalous, to say the least.

EXERCISE 5

Instructions: Use at least two tests to show the constituent status of the following bracketed strings:
1. We ate our lunch [near the river bank]
2. The [computer was very ] expensive
3. John loves [ peanut butter and bacon sandwiches ]

EXERCISE 6
Instructions: Provide a syntactic representation for the following NPs. Justify the Complement or Modifier
status of each of the NP- internal. Justify the Complement or Modifier status of each of the NP- internal.
1. A specialist in fibre optics from Paris
2. The girl on stage in jeans
3. The failure of the program in recent years
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Lecture 8
COMPLEMENTS <5SL

COMPLEMENTS
= Complements are obligatory constituents that are selected by a given head. This head can be a Verb,
Noun, an Adjective, or a Preposition.
Complement selection is both semantic and syntactic. When it is syntactic, it is termed
SUBCATEGORIZATION. Such information is encoded in the form of lexical entries / subcategorization
frames that include phonological, semantic and syntactic properties of lexical heads as in (1):

LS
O sl s el ab 065 OF S N s e ol S 0 iyl e Bl Al polis p oOLSLH
JKa e Slegall ada a5 L (S Gl e gl (552 05 Lkis 598 S iy SV 2 oSyl m
(1) & LS tamne 05, o0 gmdly AVl a5s0al) aflad fois S asdl Cailadl ISTs [ dpazene J5ls
DEVOUR: Cat V
/divaua/
‘EAT HUNGRILY’

[ NP]
[+ edible]

We thus predict the contrast in (2) in which 2a does not include the NP direct object of the verb:
a. The boy devoured the sandwich e ) Bl Jodl ) 4 Jpnill ey ¥ 22 o (2) 3 cald g5 LU
b. * The boy devoured.
VS PO IRUN - |
ROLIRUNTRN o

1. Complements options for the verb
As a verb can take more than one complement, our XP rule needs to be revised as in (3):

Jadld Aoslt olyLd- Y
1(3) & WS el ) zit XP 0ga T3] ¢ oS a5 i 0F S Jadh 0F 1

XP = (SPEC) X’ ;
X = X° (COMPL¥) [Zdjw\ L;&] [u\:ﬁ\] i.::ﬁ\ Ll Capy @A

a. The librarian put [the book] [on the table] dyllall Lo a8l el czy LD
b. * The I.ibrar‘ian put on the table S 2K ey .C
c. * The librarian put the book

By rules (3 and 4, above), (5a) has the following structure:

The Librarian

\ \
NP PP
Put the book on the table
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Some more examples of verb complements

COMPLEMENT OPTION
Jasal) LAl

(0]

NP

AP

PP

NP NP

NP PP

NP PP loc

PP to PP about
NP PP for PP with

VERBS
Jladyy
arrive, die
cut, prove
be, become
dash, talk
hand, give
hand, give
put, place
talk, speak
open, fix

2. Complements of other lexical categories

Jrdl LS alze e gl

EXAMPLE

Sl

The rabbit vanished

The professor proved the theorem
The man became very angry

John talked to his daughter

She handed the man a map

She gave the map to the man

He put the book on the table

| talked to the doctor about Sue
He opened the door for Andy with a knife

Complementation is not a property of verbs alone. Other lexical categories, namely nouns, adjectives and

prepositions, also subcategorize for specific complements.

5}9\% CJL‘.’QJe M . Y

a2 S b Cinas Lyl A1 ooy coliall csler oo (651 ) el ladmg JsW dsls ) o9LSl

COMPLEMENT OPTION
Jasall JLAd)

(O}

PP of

PP of PP to

PP with PP about

COMPLEMENT OPTION
Jagal) LAl

(0]

PP about

PP to

PP of

COMPLEMENT OPTION
Jagal) Ladl

o

NP

PP

NOl{NS

sl

car, boy

memory, failure
presentation, donation
argument, discussion

ADJECTIVES
Sl

tall, green, smart
curious, glad
apparent, obvious
fond, tired

PREPOSITIONS
A dga
away, down
in, on, near
down , up, out

EXAMPLE

Jiial)

The car is new

The memory of a friend

The presentation of a medal to the winner
an argument with Stella about politics

EXAMPLE

JEal)

He is very tall

| am curious about China
It is obvious to the teacher
She is fond of chocolate

EXAMPLE

Jall

He walked away

on the table

down into the cellar

Subcategorisation, also referred to as C (onstituent)-selection, ensures that only the right complement type is
entered into the tree structure. This information is stored in the Lexicon.

o Sl A & s pn )l bbb gs ol LSl 65 OF ez (gl W) = (e i) €y ) jliy WS o dl) (il
okl (3 Sloslall ol 2
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3. Complement clauses
Clauses, which are larger units than phrases, can also function as complements:

The psychic knows [that / whether / if the contestant will win]
The bracketed phrase in (6) is called a complement clause while the larger constituent is called matrix clause.
that / whether / if are called complementisers (Cs). Their role is to introduce (head) complement clauses,
thus forming Complement Clauses which are represented as Syntactic Complement Phrases (CPs).

AL st L
oSS Jors O L Sy ol o ST bty 2 Jud
[ 39w ot OST13) [ o [ O | Gy ol
Bgiae dha SV el il e Lot WS e (1) 3 s O L) 0da e
@ Jeos g il o LSCes ULy il ot () 25 58 Laygs (C8) SlkaoSS o 131/ L/ O
(CPs) 42 UaSes fa

\
NP r
/ \ I \
(that / whether / if) Det N I Vv
the contestant will win

Verbs taking CP complements
There are different types of verbs taking complement clauses. Some of these are given below:

(9) a. They believe that Eric left. [v, CP]
b. They told Mary that Eric left [v, NP CP]
c. They admitted to Mary that Eric left. [v, PP CP]

eSS Syl mo 3B (F1 JY!

lean bbby 2hSa o e 3B I I e il sl s

[Wotgle _ (Jub ] e el of vgaim (9)
[EUCUR W W R Y 3 eyl of )b 16
[WSedpe 892l (o ] SEEOBURIPEINPI
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THERE IS NO LIMIT ON THE NUMBER OF EMBEDDED CLAUSES THAT CAN OCCUR IN A SENTENCE, as
exemplified in (10) below:

EXAMPLE: A man thought {that a woman said [that Sue reported (that Mary believed

At the level of competence, a sentence can be infinitely long. This is accounted for in our grammar by the
recursive nature of the X’ schema. This is made possible by the fact that the same rule schema is used with
the all the constituent types.

Dobsl (V) 3 Sl o LS et 3 s OF oS8 @) ol 3ue G o San
Aisas g0 OF ) @SB g OF | QB 8t OF } fory o 1 L0
Jalasill e 8y Sl adald Tidy Lyl 2all) sl (3 odn Ol 0z 3905 S alisb 055 O alosll - Ss ¢ 5l e (gstenn o

el obiall el ai me Jalasll 086 s pldsizal o3 OF 2 IV e IS s el 3y 'X

Other categories with CP complements
As the examples below show, a CP may serve as a complement fora N, A, or a P.

ALY &ty o ab @ 3 L]
O jT cJ ‘..AI LSS alig ()ﬁ RERTRS( <Ll ol alzey) Abgme A LS

a. CP complement of N b. CP complement of A C. CP complement of P
NP AP PP
| | |
AI PI

I\ o\
N° cp A° cpP P° cp
Proof that Eric left certain that Eric left (talk) about whether Eric left

It is easy to see, at least for nouns and adjectives, that the complement clause attested with the verb form is
also attested with the noun and adjective forms. We thus have:

adally vV ST o Lasl aSBy Jodl) 08 B a5B alaSl aledd O ¢ wliall 5 sl 3 BY) e ¢ 55 OF Joud) o
Prove ascertain

\ that the theorem is false \ that the theorem is false
Proof / certain /
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Lecture 9
TRANSFORMATIONS (1) < gasil)

1. Deep and Surface Structure

The grammar that we have developed so far consists of a LEXICON and a set of Phrase Structure Rules (PSRs)
constrained by the X’-schema . The combined work of these two components generates simple structures, be
they phrases or clauses of a varying degree of complexity. The central element in a phrase is the HEAD, an X9,
while all its dependents (Complement, Modifier, or Specifier) are XPs.

dodand! g Aol did) .Y

o T Joall 'X lalasng 3o (PSRS) 3ylall JSn uelh (0 B8 oy gomme 0 0555 OV) 3> Laplany s gl 2alll delss

UT > Q ch $R9 ( U‘TJH o SJL,.:J\ Q (:sjfj'u Jna.'aj\ ..J..:.M| P Z\Sj\.é.:,« Qb-).b Q\J,b jt C)\)L«& CA\{;\)M M.E.:.w; Jf\.:.a .Uj.g J],a;\’.s\
XPs on (5421 5 bl S ) Lede cllall o

However, these components cannot account for variation in linguistic structure as represented by the
following examples in a straightforward way:

(1) a. The Inspector will come tomorrow. Declarative
b. Will the Inspector come tomorrow? Yes-No Interrogative

(2) a. John bought a car
b. WHAT did John buy ?

(3) a. John ate an apple

Declarative
WH-Interrogative

Active

b. An apple was eaten by John Passive

5l Al W) A (3 ST Ralll 2l (3 OV Y1 e gt 05ST OF el ol 0dd S Y (S e

.

45yl
Yot dslgin)
it s
WH  algiz)

O

S paall gl ()
b el gl oo

Sl g i3l (2)

Ogx sl Bl &

LA Oer Jf\ g (3)

JsgS! g $0g |8 oo il st o

Native speakers of English ‘know’, tacitly of course, that these sentences are both syntactically and
semantically related, although they all express different modes of communication. This relatedness cannot be
accounted for if we rely on the Lexicon and PSRs alone. At best, these two components will treat them as
unrelated structures and thus will fail to capture the fact that the sentences in (b) are DERIVED from the
sentences in (a).

Oppm e o1 o (200 o calall W TN 5 1sd et e Jodd o O (U ey Lo ¢ "0 3504 a2l il
e (=Y el 3 iy (PSRS) g)lall S el 5 wmms o oz WST13) Ljesns OF alall odd S Y LYl Jloy Caliies
(@) & Jod o Bkatns (D) & o) OF B eogd il JWLy ann U 8e Y ST LT ) LS pglales g pial
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HYPOTHESIS: The sentences in (b) are derived from the ones in (a) by movement.

The (a) sentences are generated directly by the Lexicon and the PSRs. They represent a level of linguistic
representation called DEEP STUCTURE while the (b) sentences represent a level of linguistic representation
called SURFACE STRUCTURE. The two levels of linguistic representation are mediated by a set of rules called
TRANSFORMATIONS. The work of the Transformational Component is at the centre of the Computational
System in the Grammar.

eyl I o (2) 2 535l 5 e (D) & o) e s
o o (D) Jaf Loy Basdl) Bl o5 opall) el oo gin 28 25 PSR 3all JSon oty okl 13 0 3800 jlis] o (2) & Jod)
il Al olial) L .Yl s delodll s dsgag ol et e sl s s dedandl Bkl ol ol Ltad) (St
Al aslgp & el plladl S 3 5

We will further assume that there are 2 types of movement:

= X2 movement (movement of a head)
= XP movement (movement of a phrase)

2. Transformations Y gl LY

2.1. Head movement: YES/NO Inversion or | -to- C
The sentences in (1) above, reproduced below in (4) instantiate the operation of head or X2 movement. The
structure of (4a) is given in (5a).

oSS = dl = s ol B Y/ el Y
((52) & slans (42) Bpy . X° E o I it e (£) & ol Benizs codel (1) 3 k)

(4) a. The doctor will come tomorrow. Declarative
b. Will the doctor come tomorrow? Yes-No Interrogative

4% s S sl gl T (4)
Y=o dpelgiins] s S gl o
IP__
/ 0\

NP r_ - D(eep) Structure  4dwe 4
The doctor / \
12 VP
WILL come tomorrow
We apply the transformational rule - Yes/no Inversion
Jagadl) ¢y 5id (gukas Ypad b
We derive the S(urface) Structure:
daand) Al daied
(5) b. IP__
/ \
NP r__ - S(urface) Structure  4xakhaud) 444
[\
e vp
WILL The docctor come tomorrow - Y/N inversion Ypd b
T

By Yes/No Inversion we front the auxiliary WILL in | to a pre subject position.
& s sall U8 a8 ge N Gy el 3 WILL 20 bosal) il alal L) W/ans a8 3da) 59
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The transformational analysis has two advantages :
= We do not have to say that there are two types of Aux in English, one that occurs before the verb and
one after it.
= Relatedness of the Declarative/Interrogative is also captured by the movement analysis.

1003 A gl fodoed)
oy 54 Y1g adll L8 dar g Wi il Y1 ) 3 saslldd JWoW s e ey Sl OF Jsms ol Y ®
LS ol IV e Ll Ui S sl fad ad) Al @

One question remains, however: Where does the Aux element move?
Recall from the previous lecture that phrase structure rules are recursive in nature. This means that it is
possible to assume that every independent clause is in fact the complement of a verb of
SAYING/BELIEVING/THINKING, etc. Thus, we will assume that sentence (4a) is complement to a silent verb
such as in (6):

(6) a. I SAY: the doctor will come tomorrow

Seludl Jadll paie d oy ool J) 100 gm0 doly lge ag

WeSee wBlshl 3 o Wit alar JSOT o OF SC o sl gms 1y el (3 8) S0 8 )Ll By elgs OF 2B 3,00 e ST
1(6) & JUH 8 LS e i) eSS n () ahad OF 2258 Wb ¢ 1iSCny 41 ¢S] Gpbaas/ B Jad)

T4 3l Boew el 131 .2 (6)

Syntactically, (6a) has the structure in (6b):

(6b) & s Lot (62) L2
VI

VP
WILL The inspector come tomorrow

T |

The relatedness of 6a and 6b is maintained through the fact that the movement of | leaves behind a trace,
thus forming a movement chain. Thus, | moves to C, ONLY when the latter is empty.

Jaxy el 10y sl Al LSas LUl ‘i‘ Laelyy 55 Jgoudl 5 OF 2> M 0 By A 3 bl Jo bladd oz
1 Vs 0 Lete Lo JoSU )
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A simple test for this analysis is provided by the contrast in (7):

(7) a. I wonder IF/WHETHER [ the doctor will come tomorrow ]
IP
b.* Iwonder IF/WHETHER WILL [ the Inspector come tomorrow ]
(N X I
I -to-Cis blocked

(7) & 2l s ollans Lot 1 Aoy 34
[T gl Csw el | elgw/13) Jslisl @ (7)
[T ab bl | B s1gu/13) Jelust *. b
I X_
gt JoShi= Iy )
The verb WONDER subcategorises for a CP complement. Thus, the C position is filled by either IF or WHETHER.
When | to C applies, the Aux WILL moves to the position that is already filled by IF or WHETHER. A
Complementiser and an Aux cannot occupy the same position. This explains the ungrammaticality of (7b).

Conversely, if the Comp position is empty, | -to — C movement is possible as shown in (8):
(8) 1 wonder: will the Inspector come tomorrow

(LS L Cpad) e 2 sadas Lot slgms of 131 Ll a3 Sl punlad) aiall wg ooy . oSl 35Le A8 Lo s anas Jladl ad
Bl i) e Lo Ly aBsl) ks 03e OF S0 Y el fadlly faSU) stgun 5T 13 ool ke woll 4] Jixy Bgo asld) fodll 01
- (7b) o

1(8) & crer 38 LS il bW il Spd ) Jgmdl ¢ U oS mge OIS ¢ S e

e gl madlt o :Jsll (8)

EXERCISES: How does YES/NO inversion account for:
* played the boys football yesterday?
Did the boys play football yesterday?

it Y ST
Sl pdl) 3,55V )
QU’WJ (a.bﬁ\ 3;\}:&5 33!)‘3“ JJA

2.2. XP_ movement: Move WH to SPEC CP
Another instance of a movement rule is provided by so-called Wh-movement. This illustrated by example (2)
above reproduced by below in (9):

(9) a. John bought a car Declarative
b. WHAT did John buy ? WH-Interrogative
eSSe By 3 1) JIgadt J5 X Byle Sy E YL Y
\(9) L} OUJT JXL\ JJ o eniinn 03)\.9? (2) JLIL\ L} c.,a_::.i fia J\jmj\ afj>- e Le J}’b— :J\gjz:}\ sdels o J’>'TJ’:’°
(S Bl 0 i3 LA (9)
(W] Jgs ¢ Ogr i3l 3L b
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The Wh word in (9b) substitutes for the complement of the verb BUY in (8a). The Deep structure for 8b should
be as in (10):

:(10) & o Ls8b J aieaal 2l 055 0 s (Ba) 3 sial Jadh) aleSd 2ty (9b) 3 3L 2l

(10) John did buy WHAT?
3L sral b 0gx (10)
To derive the S-tructure (9b), we need to apply two transformations, namely:
TRANS 1: Subject Aux Inversion did John buy WHAT?
TRANS 2: WH-movement WHAT did John
T T _
I

We know from the previous subsection that the Aux element moves to C. We also saw that it was an instance
of X2 movement. How about the Wh-word? Where does it move?
Let us assume that the Wh word moves to [SPEC, CP]. We thus have the following tree structure for (9b):

ol QL8 slgana ) 28 e 13l X sl o 057l Ll Wl . oSS ) My dsladdt Jadl) puais O gl abaill oo Ui e

¢ iz
£ (9b) J Wl soead) agy L WLy L[S s)le caaz] () i apeleinnY) 1S OF (o Gses
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In this lecture, we have introduced and illustrated the working of the Transformational component of the
Grammar.
= Transformations are needed to account for structures that involve the displacement/movement of
some constituent
Two types of transformations have been illustrated: X2 movement in the case of Yes/No questions and
XP movement in the case of WH-movement.

o) Aslgh (3 gl U fes lioogg el ¢ 0l ods 3
Al oliall jae 355 [aml] e sohs & and Old SVl fld .
crleina ) st b2 Al 3 XP el2 o Ve danl U 3 XO pd tcomiy @) oVl p Olog Siny @
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Lecture 10

V-movement to |
Consider the following contrasts. Can they be explained in terms of the availability of V-to-l in French in
general and only exceptionally in English:

(1) a. Paul travaille toujours.
b. *Paul works always

(2) a. *Paul toujours travaille
b. Paul always works

Y 2l Lo sl §iga 5 ple (SCay i ) 2L Gyl =) = el L E Bl o e 8 OF ST AW L ) el
Observations: English and French contrast significantly with respect to the relative word order of V and Adv in

a simple sentence.
In English the Adv MUST precede the verb, while in French it MUST follow it.

b Al (3 JHy il &g ol Sl i lan Lo 1S Ky alae dpnd al) aallly 2041 aall) :oollam L
cang O o B @) (3 Loty () Gy OF g JU 51430 2801 3

Hypothesis: V-to-l applies in French, but not in English. The existence of such a head movement
transformation explains the contrasts (1 & 2)

W) s AT Ly Sl s e 59mg O il Al Lo ud ST ciens a3l e oty Cagpead — ) = el 2 1id )

(YsV)¢
Evidence:
Arg 1. Both English and French have I-to-C in Yes/No questions, but only French has V-to-I followed by V+I-
to-C. Consider the following:

s = = Jadll Sd U il Lo Sy e Al 3 JoSte =1~y s 8 b 2 dlly b2V A e 70y cESY)
tsh Lol opm Al oS =) — el Jadht ey £ s

(3) a. As [tu essaye] ? I-to-C F

b. have [you tried] ? l-to-C E

(4) a. Vois [-tu [
IP VP
b. *See [-you [ the book ]] ? *V-to-l-to-C E

le livre]] ? V-to-l-to-C F

In (3) Inflection has moved to C in both languages giving rise to well-formed Yes/No questions. In (4a) the verb
in V seems to have moved to | then to C in French, while in English it cannot do so. This confirms the
hypothesis above.

Cipad) 4 1550 V@ Jadl) O gy (42) (3 e (K20 Bte V/ows dlsal ] 3T 8 SRl e 1873 oS ) Gapadl Jasl (1Y) 3
el o dll uST ey Lol b o Y BV A B Ly R ) 2RL LS ) £
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Arg 2. English has exceptional V-to-1 with BE used as main verb in ex. Such as:
e U ) JadS pasnl Bl b o s =) = Jadl Sy ey sl L 22
(5) a. Jonathan is always ontime c. Jonathan is [always e ontime]
b. Jonathan always is ontime VP

V-to-l has applied in (5a) but not in (5b). BE in this example has a dual status: it is a main verb but at the same
time it has the morphological properties of an AUX, ie an |. It is syntactically visible only when it surfaces in [;
and not under V if it does not move as in (5b).

S e 3 Sy i) 6 8 a2l Alas JU M 3. (D) 3 ol S5 (52) 8 it —d) -l hiE g ekl 5y
QLS Bt YOV oy el 3 lmba 25 Lie b Usd S 0] Gl ol el Jodll 2y ailias o)
.(5b)

Arg 3. If our analysis of (5) is correct, we predict the grammaticality of (6).
(V) 8l el e B} Ly s s (0) J WAL 0IS713)

(6) Is [Jonathan e [always e ontime]]
) |_VP I

The grammaticality of (6) cannot be explained unless we assume that BE has moved exactly like lexical verbs
do in French; i.e. over the adverb in [Spec,VP]. (See 1&2 above)

ST ¢l 231 (3 dpemeall JWY) a5 b oo Laall 82 52800 e 0585 OF Lo ) 1) Y] o oS Y (1)) 311 dels Lo Gooked)
(el ¥ 5y ) L [adedll aledt o | 3 JU Js
Structural ambiguity

Some sentences are structurally ambiguous in that the meanings of their component words can be
combined in more than one way. For ex:

e sy Wb e STh Lt L el S U 1S LS glee O STUSr avtle Lodt Lany JSGH1 ol
Wealthy men and women
The phrase in (2) can be interpreted in 2 ways:
a) wealthy (men & women) or b) (wealthy men) and women

el il slady Jlory
(bl Jery)ssbws (b o sb 3l (sliy Jmy) (@ toniy oy Lot S5 (Y) G 5Ll

These two readings are matched by 2 different syntactic structures:
DAkl &) OLSTR e ol el A oda LG
(3) a) NP b) NP
| / \
N' NP  Conj
/ \ / \ |
AP N' AP N' and
| | wealthy |
A N_ N
wealthy / | \ men
men & Women
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(3a) refers to all wealthy men and wealthy women while (3b) refers to wealthy men and women in general.
The latter are not wealthy.
Y e B ple S sldlly bW e ) ets (Bb) Lt sUY1 cldly s Y1 ) e ) e (3)

Conclusion In this lecture we have:
= |-to-C exists in both French and English.
= V-movement to | exists in French, which fact explains the existence of V-to-l1-to-C in this language.
= V-movement to | does not exist in English, which fact explains why English does not have V-to-1-to-C.
) 3ol ol (3 dS
Al Vg G ) bl sgmge JaSa 4] ) S
Al sl (3 JeSee 4 Ciypead J) Jodll Sl 5oy B iy Lo gy i i)l 3L 3gmge Lyl J) Jadll Sy E
YL JoSGs () iy 3] ol Sy 5oy s Ak ey Lo gy pld Y1 AL s g b g ) Jad) Sy
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Lecture 11

Thematic Roles
Another aspect of semantic interpretation at sentence level involves the roles NPs play in the situations that
they describe. Consider:

(1) The company sent the salmon from Muscat to Sohar.

i g shl y9sY!
tok b b iy g oYU (3 ae Yl Al el e (ssby Alad) Sy e IV il e 2T il
e é! Lius o O}JMJ\ foiJ\ CJ.-»)T (V)
It would be impossible to understand this sentence if we could not identify the company as the sender,
salmon as the sendee, etc. The term thematic role (theta role, 6-role) is used to describe the part played by a
particular element in an event. Some of the most used thematic roles are given in (6) below:
Gl ool Ul 3 ] Loy e Osabid Sty ¢ JuuynS 35800 e Cpad) n Sas 13] Aledd adn 1 Lzl pn 05K
2ol ('\) & Qk_u (ARESW J,“‘fé}“ 3.2.9}«9}1\ )\j;}“ B2 TRNCIRE S RS VR St C)j'"' Lﬂ;JJ\ )j-'\-“ u..,ojj Sty (e =493 ))J)

Thematic roles:

AGENT: The entity that performs an action.

THEME: The entity undergoing an action or a movement.
SOURCE: The starting point for a movement.

s goghl y1gs¥

GOAL: The end point of an action or a movement. il Ay g 0L Jedlh
LOCATION: The place where an action occurs. S o Lo el EN O g Jgndl

Lo i B akes : ydall
S ol L el 1) aks DA
el g gl O adsh
In sentence (1) above the following thematic assigned:

(2) The company sent the salmon from Dammam to Riyadh.
AGENT THEME SOURCE GOAL

(3) Terry gave the keys to Mary.
AGENT THEME GOAL

(4) The magician changed the ball into a rabbit.
AGENT THEME GOAL

P ol craadl o3l (V) ALt (3
P L bl e Ogaldt aSpadl cli (Y)
Sudl ol a Jendll Jeldl
g digpdl ol g (7)
Sudl 4 Jeadll el
Al dE R AW de (f)
Sudl w Jeadll el
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Thematic Role Assighment
=  Where do thematic roles come from?

= How does the grammar ensure that the appropriate thematic role is associated with each NP in a
sentence?

E32 39l s
Saesosll ooVl Gl ol e ®
Lo ala 35 3le IS me Ok U ol jesosl) ol poiar OF aslgill Ko as™

Thematic roles originate in word meaning

The meaning of the verb/predicate is central in determining the particular 6-roles that must be assigned in a
sentence. For instance, the meaning of HIT calls for the 0-roles AGENT (doer) and the THEME (doee).
However, the other categories can also determine other roles that are assigned in a sentence.

In (3) above, the prepositions FROM and TO are respectively responsible for the SOURCE and GOAL role
assigned to Dammam and Riyadh.

Sz 3 Lo ds gl l9aY)

0 — s 1 ey HIT e (JUU o Jo et (3 0o OF o ) tme O —lasl 0ad (3 (55570 4 Jmill] Jadll 520
Al 3 i o Y 1Y il Tl 29 el S ¢ 23 xey (dOEE) 4 Jgaili s (doeT) Jolidh
(PU g pledl 1] suadd Bud 5 plall o) L1l s Wgsen ) 5 o A g sl (1) &

Generally, 0-roles originate in the Lexicon as part of the semantic information associated with particular
heads. Here are some examples:

Al ) e Lty B o) mr Bl 2V Slogleld e 1S wmene 3 Law B — 1Y) Loy
(5) The thematic roles of some words are suggested by their meanings.
Lesiae U8 (0 2 55 LSl e e sumall 1 50¥1 (1)
HIT <AGENT,THEME> TO <GOAL> NEAR <LOCATION>
oW ¢ 44 Jgadal Cisg) sl

WALK <AGENT > FROM <SOURCE>
Jelaly haall

0-roles are assigned to NPs based on their syntactic structure, with each NP receiving ONE and ONLY ONE
0-roles.

i sasly O — ool sy ael Bl IS e ) Lz plol L 2oyl oLl 8—)\537@:,5{.@

The verb assigns two 0-roles, one directly to the complement and one indirectly via the VP to its subject
because the verb is not syntactically a sister of the NP subject.

grosk cil bt Sl adll OY gk el 5Ll g b 8 5L b Bty JuSU L] 5,800 50ty 0 =150 e je o Jadl
RN 1WAl

(7) Terry gave thekeys to Mary.
<AG,TH> <GOAL>
/\
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Deep Structure and Thematic Roles
Does an NP receive its 0-role in its D-Structure position or in its S-Structure position?

EC PR PT [PV SN |
Sl Lgnty 3 of Bien)) Lz 3 0 —lajes 2V Ll Lad o

Consider the following example in which wh-movement has applied:
WH a0 b w6 ) QW Jul J) b
(8) What should the man bring e ?

The Theme role is clearly assigned to the position occupied by the trace of the wh-word. The
D-Structure position is the one subcategorized for by the verb and is therefore the one that receives the
relevant O-role. Also, the D-Structure position determines the nature of the 0-role. We can thus state the
following:

JWy aill Lo s Tty Lsas Citeas Aol Al @Bgs . J15ed) AadS" 3y b0 o aliis o)) Cidgoll oy [SCiu a Jgmdll 395 (e 02
rb L Jg e Gl 2y .0 — 393 dand 308 Lol i) aBge 01 Ll ALl 13 B — y93 iy ) 5o

An NP’s D-Structure position determines its 0-role.
This statement lends further support to the fact that there are two types of roles PSRs to generate deep
structures and TRs which convert them into surface structures.

(0 —lays s el Bylall Aol At aBga
(gt usgdll) TRSy ddeall o1 adgd (bt JSa us1d) PSR ol 0 cpe g dlin OF a2ad ol o Tge o 0L s
e & ) ghst e s
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Lecture 12

Case in syntax
Case is a noun inflection by means of which grammatical relations such as SUBJECT, OBJECT, Prepositional

OBLIQUE, DATIVE etc. are signaled. English does not mark Case overtly. However, Standard Arabic is
interesting in this respect because it has OVERT Case, marked at the end of a noun as shown in the following
example:

o) by 3 A 2

Jb- & dadly AelS ol il (392 Bap ¢ Br) By Jgadl (pa gl Jo o) SN b 8 ) iyl 2 D) 2
s (3 ploxadl 3p2e oo oeadl) By al) 2Rl 0L (M5 mag . e JSCas LM mog o Y Y1 Al B5La0 LglS D ) Loy !
AW U & e gn LS WA 3 5y (b Lol D ag Y sl

Akala 9omar-u  t-tuffaahat-a fi I|-maktab-i S & dalill e S
Ate Omar-nom apple-acc in the-office-gen
'Omar ate the apple in the office. *

SUBJECT Case is Nominative, OBJECT Case is Accusative, and Prep Object Case is Genitive (in Arabic).

(B L) Glas ga y9,81 Al a9y « md) g2 4 Jgadll Al a299 (@)1 (2 ¢ 9o sl Dl 0oy

Assume the following Case relation: ) U oy B i
NOM is assigned by + TENSE b 1
ACCU is assigned by V Jodl Baes b e @30 e o2

OBL is assigned by P ( in Arabic, P assigns GEN) Jadlt b e cmad) s 02

A O JB e 98 e
Case Filter: All NPs must have Case
B b 0585 OF it el Sl JS7 18- g Blinas

NP movement (l): Passive
Consider the following two examples:
(7) The police arrested the thief
AGENT THEME

(8) The thief was arrested [e] (by the police)
THEME AGENT

(9) was arrested the thief (by the police) D-Structure

Jsgroll soe tiae W1 ByLall by 2
o) A ) e

G e cas ds (V)

4 Jgadd! Jedlt
(o2 13 o) [e] ol s sad (A)
Jeudt a Jgndll
ol ) (i) U3 o) ol e a1 ®)
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How come that the Agent role of (2) is not assigned by the verb in (3)?
=  Assume that the passive morphology ‘weakens’ the verb by making it incapable of assigning accusative
Case to its object, hence the need for it to receive Case in the vacant subject position from |.
Assume that the passive verb also loses its capacity to assign the subject 8-role. The subject position is
therefore non-thematic in (9). Interestingly, NP movement is a transformation which creates a CHAIN,
whose head is a Case position and a non-thematic one and its TAIL/Root position is a non-Case
position but a thematic one.

C(F) 3l g3 o i 2 4 (Y) 3 Jo) 0 O st a8
S 2 ) Wby dessosh Condll Ul ppnd e 300 58 Leem I o ol " Crei” U B S5 0T o
bl e 8508 gyl g (3 VU kY
o () 8 Eeosn b 5h paosl Uibse OB Wy el =0 §aose oo o 45 ik Lol Jemal) o edh OF i
3 WAl Gibsn 5 Sgsn g Wl UiBge 5 auly (sllly bk 3l S Jgoudl 52 oot B pE OF coleandl il

An NP Chain: (NP, e)
[+Case,-0] [-Case,+0]

NP movement (l1): Raising
Similarly, RAISING Predicates are sanctioned by the same Chain conditions given above for the Passive.
Raising Predicates are predicates such as: SEEM, APPEAR, BE LIKELY, BE CERTAIN, etc. Consider the following:

e eyl Bylall &y £
Jagreell srall oMol 8yl ALt By b ks |3 o0 Wgeds a Jpadlt a3y 01 ¢ Jill
DAl Ll @ b ells ) Ly conly o 0555 OF eI e gl ¢ e 1 e @ gmie s a0 snill o,

(10) a. Itseems [John is happy today ]
b. John seems [ to be happy ]

(10 a and b) are synonymous, but they differ syntactically in that the first one has a finite, [+ Tense]
complement clause whereas the second one has a non-finite, a [- Tense] complement clause. Thematically,
the verb SEEM s-selects a THEME complement clause and a non-thematic subject.

e B 33l O o (3 [ o) dro] co3ga2 oS 3o U LgY1 0F (3 (oS o (e iled eSO (sl e 2 (10 @ and b)
L Eros i gaose 54 el S - Bl sy i) disgose . [ab sk pb o] 8202 8 LS

The derivation of 10b) is as follows:
5) John seems to be happy A (6 O 9

+T seems [ John -T to be happy 1
[+ Case, -0 ] [ - Case, +0 ]
Move NP = S-S: Johnx +Tseems [ ex to be happy ]
T I
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CONCLUSION
In this lecture, we have seen that :

The thematic status of a syntactic position interacts in a significant way with syntactic processes such
as Passive and Raising.

NP movement is obligatory for Case reasons (Case Filter). It moves an NP from a thematic and Caseless
position to a non-thematic and Case marked position (NP Chain).

Lo

10T W)y 3ol ods 3
M dsemall ) e Bl Slbeddl o oS S ol (557 @5k 90l sl
26 Lda Gidsn ) T almy o500 Gisn e VI Bl 4 gy (R W) ALH LY By AVl B 2L

. (2\.3.2""9\ SJL&S\ z\.l.w.l.w) Ul 9 L;Cjﬁp}n
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Lecture 13
MORPHOLOGY EXERCISES

EXERCISE 1: Say whether the following words are related by inflection (1) or Derivation (D)
a. go, goes going, gone.
b. Lovely, lovelier, loveliest
c. Discover, discovery, discoverer, discoverable, discoverability
d. Inventor, inventor's, inventors, inventors'

EXERCISE 2: For each word below, indicate whether the word is morphologically simple (S) or Complex (C),
includes an inflectional affix (1A), or includes a derivational affix (DA).

a. Reader DA
Redder DA
lavish DA

. Readiness DA
Aviation DA

EXERCISE 3: Isolate the root and the affixes in the following words.
For example: unpredictable : un+predict+able.

a. independently
b. recoverability

c. embellishment
d
e

unsustainability
implementability

EXECISE 4: Some words in (4) contain prefixes. Identify the prefixes by circling them.

unable
discourage
establish
receive
strawberry
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EXERCISE 5: Circle the correct answer in the following multiple choice questions:

(1) The study of word structure is done in
Phonology
Syntax
Phonetics
Morphology

(2) The association between the sound of a word and its meanings is purely
Controversial
Conditional
Central
Conventional

(3) Suppletion occurs when a lexeme is represented by two or more
a. Different
b. Similar
c. Bothaandb
d. None of the above

(4) When we derive one word from another, we
Change its class, for example, from being a Verb into a Noun
Change its tense, for example , from being Past into Present
Both of the above
None of the above

(5) Roots are
NOT always free
Always free
Both of the above
None of the above

is a morpheme that makes the most significant contribution to a word's meaning.
. The phoneme
. The derivational morpheme
The inflectional morpheme
. Theroot
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Lecture 14
Practice

EXERCISE 1: Instructions: The sentences below are instances of structural ambiguity.

a) Give a paraphrase of two possible readings for each of them
b) Draw a tree structure for each reading.

1. The police shot the terrorists with rifles
> Reading 1: ... The police shot the terrorists HOLDING RIFLES
On this reading the PP with rifles is a modifier of the NP ‘the terrorists’
. Tree Structure:
> Reading 2 : The police USED RIFLES to shoot the terrorists
On Reading 2, the PP with rifles is an in Adjunct, an instrumental Adverbial
. Tree Structure

EXERCISE 2: Instructions:
a) What is the status of the underlined clauses in the examples below ?Are they complements or
Modifiers ?
b) Justify your answer.
c) Draw the tree structure of the COMPLEMENT structure of the verb BELIEVE.
A. | cannot believe the rumour [ thatJohn has died ]
B. I cannot believe the rumour [ that is circulating in our neighbourhood ]

= Constituent status: that John has died is a : Complement Clause (CP)

= Justification

Arg. 1: As a complement, it completes the meaning of the head noun RUMOUR semantically. Thus, it
cannot be omitted ( deleted):

I cannot believe the rumour. ( the rumour about what ? As it stands this sentence is incomplete )
Arg. 2:If indeed this constituent is a complement clause, then we expect THAT to be a Complementiser, and
NOT a relative pronoun. Replacing THAT with WHICH should result in ungrammatical sentence, which is
indeed the case:

* | cannot believe the rumour WHICH John has died.

EXERCISE 3:Constituent status: that is circulating in our neighbourhood is a Modifier/Relative/Adjective
Clause (CP) Justification

Arg. 1: THAT is a Relative Pronoun, NOT a complementiser. It introduces a relative clause modifying the Noun
RUMOUR, the antecedent of the RP THAT. The latter originates in the subject position of the clause :
I cannot believe the rumour, the rumour is circulating

(THAT)
Arg. 2:If our hypothesis is correct, then the assumed RP pronoun CAN be replaced by another RP, namely
WHICH as shown by the following :
I cannot believe the rumour WHICH is circulating in our neighbourhood.
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EXERCISE 4. Instructions: Provide a syntactic analysis of the following sentence by:
a) assigning it a D-structure representation
b) Applying the needed transformations to generate its S-structure
c) Drawing a tree structure to represent it.
What has John claimed that he can do ?

> D-structure: [+wh] [+Q] John has claimed [that [he can do WHAT ]]

» Transformations:
Transformation 1: YES?NO Question or I-to-C

[+wh] hasJohne claimed [that [he can do WHAT]]
Transformation 2: Wh- Question
[WHAT] haslJohne claimed [e[that [hecan do e ]]

T I I

Tree Representation cp
/\
[+ WH ] c__
WHATX / \
[+Q] P
hasy /
1t NP
| John / '\
| ey VP
v’
/
\Y
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EXERCISE 5: Choose the correct answer.
i R Tries to explain the unconscious knowledge that native speakers have of their own language.
. Generative grammar
. Traditional grammar
. Functional grammar
. Systemic grammar

. The sentences 'Smith ate a sandwich' and 'a sandwich was eaten by Smith' are
. Identical in the deep structure

. Different in the deep structure

. Identical in the surface structure

. Identical in deep and surface structure

. The sentence 'she drank the juice in the kitchen' has
. Two distinct deep structures

. Two identical deep structures

. Two surface structures

. One deep and one surface structure

. Arabic is an example of languages.
. VSO
.SVO
. SOV
. 0VS

. The syntactic head of a clause (IP) is :

t eeeessnreenane refers to the speakers' actual use of language in concrete situations
. Performance
. Competence
. Linguistics
d. Syntax
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Definitions of MORPHOLOGY and SYNTAX
(@ padl g ponid i yali )

Words are important basic units of language that carry meaning.”

ox Jot Gy Al 2l Sl s LS

Words are the fundament building blocks of language.?

izl JL;Y‘ <L S LIS

Words are the smallest free form in a language that can occur
alone and in different positions in the sentence.?

Ll OF (Sl gm Mag cadlll 3 > Ko a0l B e 2S0)

.M\ (} Ll c;b.a Q;}) LAJ;U

Morphology is that component of the grammar which studies
the structure of words to account for the knowledge that native
speakers have about their own language.

cled LIS an ol @ il aslg e CSH ES g Ol
RWAEN] V.@;.U o8 wlll bl g (sl (,.L-JV

English morphology is said to be word-based.

LIS ) st &1 Uy gl Y) 3l

Morpheme is the smallest unit of language that carries meaning.

@xn Jord 3lls Al o By rol g 0l

Allomorphs are the variant forms of a morpheme or morphemes
that have two or more pronunciations

3l i b L) g dgll e adlesl) S a2 0l i)
ST

Morphophonemics/Allomorphy is the study of the processes by
which morphemes change their pronunciation in certain
situations.

LoV aa 3 gkl s ad ) olhaadi anl)s oa

Free Morpheme when it can stand alone.

(sre U dasgie 0SS o Wil iy OF oty sl g3 41 1l

Bound Morpheme when it must be attached to another
morpheme.

AT st Jos OF gl (3l

The root is the core of the word that carries the major meaning
component.

S a2l 056 et ) 2adST age gn AL

Affixes are NOT lexical and are ALWAYS bound morphemes.
There are 3 types:

- Prefix is attached to the front of the base.

- Suffix is attached to the end of a base.

- Infix which is less common, occurs within another morpheme.

B CEARY Wy Lis 5o Losts By Do G =)
Saeld)) dedig gl Bl =Y -
sl 2L gl 4l Y -

GAT Ao pad dgiy st B s gl Sl es Y -

Simple Word is a word consisting of one-morpheme.

ES I INOAREHEE WL

Complex Word is a word consisting of two or more morphemes,
a root morpheme and one or more affixes.

Compound Word is a word that is formed from two or more
simple or complex words.

ijf&@wfffjiwwwvgg\m\

Derivation is an affixation process that forms a new word with a
meaning and/or category distinct from that of its base.

S e spane 18 [ e U S a5 ) Blad) dlee 2

Complex Derivations are words that require multiple levels of
word structure.

RS by 3 ssiane wlib (s SLISH an

Compounding is a process of word formation in English which
consists in combining existing words to create complex words.

LS (el @ e ) Al (3 2SO LS Bdas g
Bddrs LS sLadY 8ssl

The Category of the Compound Word is determined by the
rightmost word.

The Head (X) is the morpheme that determines the category of
the entire word.!

RPICETE NN R T RN EPAVINGAY

It is the obligatory nucleus around which a phrase is built.?

Bl Uy 0 55 2l 1y 32
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Endocentric Compounds is a compound that denotes a sub-type
of the meaning/concept denoted by the HEAD.

a3 [ Aalyy & s pssde [san 0 2 g5 o SN oS s
NULSTIG QU]

Exocentric Compounds the meaning of the compound does not
follow from the meaning of its compounds.

Inflection is a change or modification in the form of a word to
mark grammatical categories such as tense or plurality.

) aslg Je gday Lo siond dlis 2alST IS8 3 e o o o
otly oW e Joo

A Stem is the base form to which an inflectional affix is added.

b et 3 8L o G sl IS

CASE is a change a word's form to mark change in its
grammatical function (subject, direct object, indirect object,
etc.)!

Jeld) Jeld) ) mmd) Lizihy 3 el s 2SS 3 1k 52
(ojﬁj &l gM\ J&LAJ' cJAUé_H

It is a noun inflection by means of which grammatical relations
(subject, object, Prepositional oblique, dative, etc.) are
signaled.?

Ayl SUMAL 3L L filagy ¥l Blizs) sa

Agreement Occurs when a word is inflected to match certain
grammatical properties of another word.

ot e Bt el e (el 2aST Olsl e o ks Sus
TRty

Internal Change is a process that substitutes a non-morphemic
segment to mark a grammatical contrast.

Suppletion it occurs when a morpheme is replaced by another
which is extremely different to mark a grammatical contrast.
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Partial Suppletion is an extreme form of internal change.
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Reduplication it involves the repetition of the base form or
some part of it.
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Tone placement Tone is used in some languages to mark
grammatical contrast.
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Conversion Often considered to be a type of derivation, it
involves a change in meaning and category. It is also called Zero
Derivation.
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Clipping A process whereby a polysyllabic word is shortened by
deleting one or more syllables.
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Blends They are words that are formed by blending non-
morphemic parts of two already existing words.
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Backformation Creates a new word by removing part of an
existing word.
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Acronyms They are formed by keeping the initial letters of some
or all the words in a phrase and pronouncing them as ONE word.
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Word coinage Common for names of products.
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Phonological Context it determines the choice between
morphemes that have two or more pronunciations (allomorphs).
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Universal Grammar is that all grammars are alike in basic ways.
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Grammar is a theory of language which attempts to characterize
the structure of language.
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It is the characterization of the tacit
TACIT/IMPLICIT/UNCONSCIOUS knowledge that native speakers
have of their own language.?

e 3 bl gl ) Bmall oy 093 [p6 [ e sad o sa

OLaS) 35 p0: Gud « (Saleadl@ayiime B«

Sl i e /3 B jually gl




Lexicon is a mental dictionary (information on words:
pronunciation, form, and meaning).
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Computational System is operations that combine and arrange
words in particular ways. Two main modes of
operation/structure building: MERGE and MOVE.
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Merge is to combine words in a manner compatible with the X’
schema.
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Move is the operation of displacing elements around in a
structure.
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Syntactic Categories are words that are grouped into a small
number of classes.
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Phrases are words that are grouped into larger units.
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Specifiers depend on the category of the Head."
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They mark the boundary of a phrase; they occupy the leftmost
position in a phrase.?
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They make the meaning of the head more precise.?

Complement is a word, phrase or clause that is necessary to
complete the meaning of the heads.!
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Complements are obligatory constituents that are selected by a
given head.?
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Sentences are the largest unit of syntactic analysis.
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The Substitution Test is the replacement of the entire
constituent by ONE word.
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The Movement Test it can be shown to be a constituent by
moving it all to a different position in the sentence.
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The Coordination Test is a group of words forms a constituent if
it can be joined to another group of words by a coordinating
conjunction.
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Subcategorization is when complement selection is syntactic.
Also referred to as C(onstituent)-selection
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Complement clauses are clauses which are larger units than
phrases. Can also function as complements.
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Complementisers (C) are the words (that/whether/if) and their
role is to introduce (head) complement clauses.
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Structural ambiguity is that the meanings of their component
words can be combined in more than one way.
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Thematic Role is used to describe the part played by a particular
element in an event. They originate in word meaning.
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4- The mental dictionary that language users must equipped with in addition to the grammatical rules of
their language is called :

a. Lexeme
b. Diction
c. Lexicon
d. Word list
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LEXICON: a mental dictionary (information on words: pronunciation, form, and meaning).
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LEXICON: is the mental dictionary that language users must be equipped with, in addition to the
grammatical rules of their language.
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5- Function words include :

a. Pronouns only

b. Determiners only

c. Conjunctions only

d. Pronouns, determiners , conjunctions
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The Functional categories are Determiners(DET), Degree Words(DEG),
Auxiliary Verbs(AUX), Conjuctions(CONJ).
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Function words are words that exist to explain or create grammatical or structural relationships into which the
content words may fit.

Function words include:

Function words Examples

Prepositions of, at, in, without, by, between

Pronouns he, they, anybody, it, one

Conjunctions and, when, while, although, or

Modal verbs may, must, should, can, must, ought, need, etc
. Auxiliary verbs Be (am, is, are), have, do

Particles no (e.g. no one) not, nor, as
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3- NON-FINITE verb in the sentence ' | remember telling him not to go ":
a. Remember

b. go
c. remember telling

d. Not to go

29-The FINITE verb in the sentence 'he enjoys reading at night to lull him to sleep'is :
a.Lull
b.Reading

c.enjoys
d.to sleep
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31- In the sentence 'Being such a shy person, he hated to meet in cafes to chat', the FINITE verb is :
a- Hated
b- Being
c- Meet
d- Chat

11- Identify the NON-FINITE verb in the sentence 'l recall him saying that he wanted to leave'.

a- Want to leave
b- Want

c- Wanted to leave
d-To leave
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FINITE verbs: have tense and/or person and number inflections.
- That is, they are marked for ‘tense’ information and agreeing in ‘person’ and ‘number’ with the subject
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Example:
He plays the guitar.
- The verb ‘play-s’ is FINITE.

NON-FINITE verbs
are NOT marked for tense, agreement or any other grammatical categories associated with the FINITE verbs.
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- A verb form that does not indicate person or number
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- NON-FINITE verbs include:

(A) infinitives (the bare verb stem with no inflections such as the verbs coming after: 'to, must, should, and
other modals:

(e.g. to play, must play, etc.)

A3 WY e ol 6T e stem @yle il el sl drs (1
(B) participles : verbs after ‘have, has, had’ (e.g. has played, have played, had played )

have, has, had \x |=d! participles sl vl (<
(C) gerunds: V + ing (e.g. like playing).
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14-The smallest linguistic element capable of having meaning or a grammatical function is referred to as :
a.A word

b.A phoneme

c.A morpheme

d.A phrase
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A Morpheme is the smallest unit of language that carries meaning
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Morpheme: is the smallest linguistic element capable of having a meaning or grammatical function.
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Aims to account for the implicit or unconscious knowledge that native speakers have of their own
language:
a.Generative grammar
b.Traditional grammar
c.Functional grammar
d.Stratificational grammar
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A grammar is the characterization of the tacit TACIT/IMPLICIT/UNCONSCIOUS knowledge that native
speakers have of their own language
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linguistic competence is the unconscious knowledge that native speakers share of their native language.
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11-e-mailer is an example of :
a.Backformation
b.prefixing
c.clipping
d.Neologism
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Neologism :i4) 5.5
- When a word that does not exist in the lexicon is created through a morphological rule, we call it : neologism.
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Example: e-mailer

35. i refers to the speakers' actual use of language in concrete situations ?

a. Performance

b. Competence

c. Linguistics (O adny STl Ay gale Lo V8 50l (3 Ann b Alen] (3 g)lad) STl als
d. Syntax
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Performance: refers to the actual use of language in concrete situations.
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Is the speaker's implicit knowledge of the rules of his language : i.e speakers' mental grammar.
a.Performance
b.Competence
c.Syntax
d.Linguistics
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14- The native speaker's implicit knowledge of the rules of his language called:

a- Performance

b- Competence

c- Syntax

d- Linguistics St 3 oSy g car M (3 ddg sale fro lgdl S5 b gyl 98l
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Competence:
It is the speaker’s implicit (hidden/unseen) knowledge of the rules of his language; i.e. speakers' mental
grammar.
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15- When a morphological rule can be frequently used to form new word, it is said to be:
a- Productive
b- Creative
c- Intuitive
d- Non-selective
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Productivity:
- A productive rule is the one we can use frequently to form new words.
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1) The description of how words, phrases and clauses are constructed and combined in a language is:
a. Grammar

b. Syntax

c. Morphemes

d. Morphology

2) The parts of words (i.e. stems, prefixes, and suffixes).
a. Morphemes

b. Syntax

c. Morphology

d. Grammar

3) The three major families of words are:

a. Lexical words, function words and inserts
b. Lexical verbs, nouns and modals

c. Modals, prepositions and noun phrases
d. Verb phrases and noun phrases

4) They fill the position of a noun or a whole noun phrase.
a. Pronouns

b. Coordinators

c. Auxiliary verbs

d. Prepositions

5) ' be, have and do' are:
a. Primary auxiliary

b. Modal auxiliary

c. Verbs

d. Personal verbs

6) ' The monkey saw a leopard' generates this rule:
> NP V NP
>V NP NP
>PP NPV
>NP PPV
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7) The noun phrase in ' Tarzan saw a lion' generates this rule:

9) The verb phrase in ' Tom was persistent' generates this rule:
a. VP > VL NP
b. VP > VL Adj

> (Art) N

> NP Adj

10) Thisrule'S > NP VP ' VP=V NP PP generates this sentence:
a. | jumped from the window.

b. Larry opened the oyster with a hammer.

c. Abdullah was crying all night long.

d. The rain continued.
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